# **Bid Evaluation Report**

- 1. Name of Procuring Agency: Sind Madressatul Islam University
- 2. Tender Reference No: SMIU/DPD&S-TEND-2018/03
- 3. Tender Description/Name of work/item MAKING OF RECEPTION (RFID) ROOM AT CAR PORCH OF LIBRARY BUILDING SMIU.
- 4. Method of Procurement: Single Stage One Envelope procedures
- 5. Tender Published: SPPRA Website ID 2147483647

Print & Electronic Media (SPPRA ID No. & News papers names with dates)

- 6. Total Bid Documents Sold; 02-Nos.
- 7. Total Bids Received: 02-Nos.
- 8. Technical Bid Opening date: N/A (Single Stage One Envelope Procedure)
- 9. No. of Bid technically qualified: N/A (Single Stage One Envelope Procedure)
- 10. Bid(s) Rejected: NIL
- 11. Financial Bid Opening date: 1st February 2018
- 12. Bid Evaluation Report:

S No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks	
0	1	2	3	4	5	6	
1.	M/s. Bismillah Enterprises	Rs. 574,465/-	1st-Lowest	5.8 % Above	Fulfills all requirement of eligibility criteria as per SPPRA	M/s. Bismillah Enterprises is recommended for award of work on the basis of being lowest 1st	
2	M/s. Memon & Memon Enterprises	Rs. 604,430 /-	2 <sup>nd</sup> -Lowest	11.4% Above	Fulfills all requirement of eligibility criteria as per SPPRA		

Ali Gohar Larik

Executive Engineer (SMIU)

Munir Ahmed Sehar

Resident Auditor (DUET)

Gulzar Ahmed Mughal

Registrar (convener) SMIU

Co-Opted Member

Nisar Ahmed Memon

Deputy Director Finance (SMIU)

Yasir Raza Shaikh

Director (P&D) SMIU

## SINDH MADRESSATUL ISLAM UNIVERSITY

Aiwan-e-Tijarat Road, Karachi

## Minutes of the meeting of the Procurement Committee held on 1st February 2018

The Procurement committee meeting was held on 1st February 2018 in Directorate of Planning, Development & Services at Main Building SMIU, Karachi. The Meeting started with the name of Almighty ALLAH, then after sealed bids were opened in the presence of bidders/representative as per schedule mentioned in the tender notice hoisted on SPPRA website. The tender for following work was opened.

### The Detail of the Tenders & the Bidders are given below

MAKING OF RECEPTION (RFID) ROOM AT CAR PORCH OF LIBRARY BUILDING SMIU.

### The following attended the meeting.

1. Mr. Gulzar Ahmed Mughal

Registrar

Convener

 Mr. Munir Ahmed Sehar Resident Auditor, D.U.E.T, Karachi (from agencies/dept other than SMI university)

Member

 Mr. Ali Gohar Larik Executive Engineer

Member/Secretary

#### Co-Opted Members

Mr. Yasir Raza Shaikh Director (P&D)

Member

Mr. Nisar Ahmed Memon Deputy Director Finance

Member

The 02 firms purchased tenders & both returned/Participated in tender proceedings. The details of the bid results after scrutiny are given below

1. M/s. Bismillah Enterprises

(1st lowest)

Rs. 574,465 /-

2. M/s. Memon & Memon Enterprises

(2nd Lowest)

Rs. 604,430 /-

### RECOMMENDATIONS OF PROCUREMENT COMMITTEE ARE AS UNDER: -

After detailed scrutiny, the Committee unanimously recommended that the work of MAKING OF RECEPTION (RFID) ROOM AT CAR PORCH OF LIBRARY BUILDING SMIU. may be awarded to M/s. Bismillah Enterprises for amounting to Rs.574,465 /= on the basis of being 1st lowest bidder.

Meeting ended with the vote of thanks.

## SINDH MADRESSATUL ISLAM UNIVERSITY, KARACHI MAKING OF RECEPTION (RFID) ROOM AT CAR PORCH OF LIBRARY BUILDING SMIU.

#### Tender No. SMIU/DPD&S-TEND-2018/03

### COMPARATIVE STATEMENT

Opening Date: 01/02/2018

S.N	Name of Contractor	Total Bid Amont	GST/SRB	Bank Certificat /Statement	Affidavit for not black listed	N.T.N	3 yerars Experience	2 % Ernest money	Deficiencies	Remarks	
			1	2	3	4	5				
1 M/s.		Rs.574,465/-	ОК	OK	ок	ок	OK	Rs.12000/-	NIL	1st Lowest	
	M/s. Bismillah Enterprises	1st Lowest	- OK	OK	OK	OK	OK .	ок	,,,,,	13t Lowest	
-1	M/s. Memon & Memon Enterprises	M/s. Memon & Memon	. Memon & Memon Rs.604,430/-	5596	728		-1-		Rs.13000	NIII.	
2 1		2nd Lowest	ok	ok	ok	ok	ok	ок	NIL		

#### **Actual Position:**

1. M/s. Bismillah Enterprises

1st Lowest

2. M/s. Memon & Memon Enterprises

2nd Lowest

Ali Gohar Larik Executive Engineer

Member/Secretary

Munir Ahmed Sehar

Resident Auditor

Member D.U.E.T

Ghulzar Ahmed Mughal

Registrar

**Convener Procurement Committee** 

Co-Opted Members

Nisar Ahmed Ma

Deputy Director Finance Co-Opted Member

Yasir Raza Shaikh

Director (P&D)

Co-Opted Member

# SINDH MADRESSATUL ISLAM UNIVERSITY, KARACHI

## MAKING OF RECEPTION ROOM AT CAR PORCH OF LIBRARAY BUILDING GROUND FLOOR AT SMIU

# **Comparative Statement**

# A. CIVIL WORK

ITEM	DESCRIPTION			Memon & Memon		Bimillah Enterprises	
No.			QTY.	Unit Rate (Rs.)	TOTAL AMOUNT (Rs.)	Unit Rate (Rs.)	TOTAL AMOUNT (Rs.)
(i)	(ii)	(iii)	(iv)	(v)	(vi)	(vii)	(viii)
1	Provide, make& install 7"x2" solid golden teak wooden door & opening frames to take solid core or glazed shutters as required duly treated with solignum and lacquired polish including hardware of approved quality. Complete in all respect as shown on drawing and as directed by engineer.	Rft	200	412	82400	348	69600
2	Providing, fabricating and fixing in position At ground floor solid or glazed wooden door shutters double leaf size (10'x13'-6")= 02 Nos. of hemlock wood 1-1/2" thick duly treated with solignum & lacquer polish, including best quality handles & L-drop etc. complete in all respects and as per drawing and direction of Engineer Incharge.		282	716	201912	850	239700
3	False celing	Sft	240	68	16320	58	13920
4	Tile flooring porcelain full body tile with proper compaction	Sft	240	211	50640	250	60000

		UBTOTA	L A (Civil	Works) Rs.	426132		436545
7	Providing and laying ½" thick plaster in ratio 1:4 including leveling curing etc complete.	Sft	500	29	14500	19	9500
6	Providing and fixing of imported wall paper at reception room	Sft	500	111	55500	80	40000
5	Skirting Providing & laying 3/8" thick porcelain tile of approved quality and color and shade	Rft	45	108	4860	85	3825

# B. ELECTRICAL WORK

S#	DESCRIPTION	ОТУ	LINUT	Memon & Memon		Bimillah Enterprises	
5#	DESCRIPTION	QTY	UNIT	RATE	AMOUNT	Bimillah I	AMOUNT
1	1) WIRING & ELECTRICAL ACCESSORIES  A) Providing and laying of wiring 2×3/0.029 plus 1×1.5sqmm S/C PVC insulated wire Pakistan cables or equivalent appropriate size of good quality PVC Pipe/Channel duct Adamjee or equivalent, surface/concealed in ceiling, wall/ floors complete all respect from fans, lights, exhaust fan and bell point to switch Boards. Approved by engineer.	15	Nos.	923	13845	275	4125
2	(B) Providing and laying of wiring 2×7/0.029 plus 1×1.5sqmm S/C PVC insulated wire Pakistan cables or equivalent appropriate size of good quality PVC Pipe/Channel duct Adamjee or equivalent, surface/concealed in ceiling, wall/ floors complete all respect from fans, lights, exhaust fan and bell point to switch Boards. Approved by engineer.	4	Nos.	1237	4948	555	2220

3	C) Same as item A but wiring 2×7/0.36 for split A.Cs plus 1×1.5sqmm S/C PVC insulated wire Pakistan cable or equivalent from switch Boards to sub DB. Approved by engineer.		mtr	230	28750	175	21875
4	D) Providing fixing and wiring of Multi Pin 5A, switch socket Clipsal Australia or Equivalent, 2×7/0.036 plus 1×1.5 Sqmm S/C PVC insulated wire from DB to outlet complete in all respect with Back box Pvc/Steel and all general electrification works. Approved by engineer.		Nos.	918	3672	775	3100
	2) PROIVIDING & INSTALLATION OF THE FOLLOWING ELECTRICAL ACCESSORIES WITH PVC BACK BOXES.						
5	6 Gang Switch Plates Clipsal Australia or Equivalent. Approved by engineer.	02	Nos.	1892	3784	1250	2500
6	ENERGY LED SAVERS WITH DOWN LIGHT: Providing & installation of Energy saver 24w with holder E-27, screw type Philips or equivalent, complete all respect with above mention wiring work. Approved by engineer.	12	Nos.	327	3924	270	3240
7	False Ceiling Fan Providing and installation of ceiling fan 56" 220V, Royal/Pak fan or equivalent, copper winding, complete all respect for ready to operate.		Nos.	6895	27580	5340	21360
8	Dismantle Distribution Telephone Board.  Dismantle telephone distribution board with all 2 pair, 4 pair telephone connection & also re-installation, commissioning and testing with 2 & 4 Pair connection. With all respect.	1	Job	12315	12315	4500	4500
9	AIR CONDITIONING SPLIT A.C 1.5 TON: Providing and installation of split AC 1.5 ton 220V AC, Kenwood or Approved equivalent, Energy saving, providing installation refrigerant copper pipe (USA), rubber insulation wrapping with aluminum tape for split A/C unit including Gas charging	01	Nos.	79480	79480	75000	75000

SubTotal B (Electrical Works)	178298		137920
for ready to operate. As approved by Engineering Incharge.			
color (2"×2"×1.5mm) Complete all respect necessary items			
and pvc box, Split A.C outer unit angle iron breakers with			
1.5mm s/c Pakistan cable or equivalent with outlet sheet			
if required, inner & outer unit cabling/wiring 2X7/0.036 plus		75000	7500

# **SUMMARY**

S. No.	Details	Memon & Memon	Bimillah Enterprises
1	SubTotal A (Civill Works)	426,132	436,545
2	SubTotal B (Electrical Works)	178,298	137,920
	GRAND TOTAL	604,430	574,465

Shairan Najeeb

Assistant Engineer (Civil) Sindh Madressatul Islam University

ALIGOHAR LARIK Executive Engineer (Civil) Sindh Madressatul Islam University Karachi P-4/4

# MAKING OF RECEPTION (RFID) ROOM AT CAR PORCH OF LIBRARY BUILDING SMIU.

## at Sindh Madressatul Islam (SMI) University, Karachi.

ATTANDANCE SHEET

# **Opening Of Bids:**

## **Attendance Statement**

Openning of Tender for the work of "Making of reception (RFID) room at car porch of library building at SMI University Karachi." Opened on 1st Februray 2018 in the presence of Tender Committee and Bidders / their representative. Time of opening 3:00 PM

Date: 1st Februray 2018

Time: 3:00:00 PM

220.7		Date o	f opening	Representat		
S. #	Company Name	Date	Time	Name	Signature	Cotact No
1	M/s. Memon & Memon enterprises	01-2-18	03-	Coffessoir	John	03338811712
2	M/s. Bismillah Enterprises	1-02-13	e3-	Sr Fa G	Ban	03023476479

Ali Gohar Larik Executive Engineer

Member/Secretary

Co-Opted Members

Nisar Ahmed Ment Deputy Director Finance

Co-Opted Member

Munir Ahmed Sehar

Resident Auditor

Member D.U.E.T

Ghulzar Ahmed Mughal

Registrar

**Convener Procurement Committee** 

Yasir Raza Shaikh

Director Planning & development

Co-Opted Member